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Grand Test – IRPP-170818 

IBPS RRB Asst. Preliminary Grand Test –IRPP-170818 
HINTS & SOLUTIONS 

 
ANSWER KEY 

1.(1) 21.(2) 41.(1) 61.(4)

2.(3) 22.(4) 42.(3) 62.(2)

3.(2) 23.(4) 43.(4) 63.(4)

4.(5) 24.(1) 44.(5) 64.(5)

5.(3) 25.(4) 45.(4) 65.(1)

6.(5) 26.(1) 46.(1) 66.(1)

7.(2) 27.(4) 47.(4) 67.(2)

8.(4) 28.(2) 48.(1) 68.(5)

9.(3) 29.(4) 49.(4) 69.(2)

10.(2) 30.(4) 50.(4) 70.(2)

11.(4) 31.(3) 51.(4) 71.(4) 

12.(3) 32.(4) 52.(2) 72.(3)

13.(1) 33.(4) 53.(4) 73.(4)

14.(1) 34.(2) 54.(3) 74.(3)

15.(2) 35.(1) 55.(3) 75.(1)

16.(1) 36.(1) 56.(4) 76.(4)

17.(4) 37.(2) 57.(2) 77.(2)

18.(5) 38.(4) 58.(5) 78.(5)

19.(3) 39.(4) 59.(2) 79.(1)

20.(5) 40.(1) 60.(3) 80.(3)
 

 

HINTS & SOLUTIONS 
 
1-5. 

 
1.(1)   2.(3)  
3.(2)   4.(5)  
5.(3)   

6-10. 

 
6.(5) None of these ( N is sitting opposite to L)  
7.(2)   8.(4)  
9.(3)   10.(2)  
11-15. 

 
11.(4)    12.(3)  
13.(1)   14.(1)   
15.(2)  
16-20. 

 
16.(1)   17.(4)  
18.(5)    19.(3)  
20.(5)  
21.(2) After applying above condition , U will be right answer.  
22.(4)  
23.(4) G is sixth to the right of thirteenth letter from right side.  
24.(1) 
25.(4) 
26-27. 

 
26.(1)   27.(4)  
28-29. 

 
28.(5)   29.(4)  
30.(4) 
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31.(3) L, M > F > N, S  
32.(4) AE, RT,EI  
33.(4) 2,3,6  
34.(2)   35.(1)   
36-38. Work-koo  

Hard-fe  
Success-chi  
For-la  
He-ra  
Will-pe  
Get-bee  
To-da  
Efforts-su  

36.(1)    37.(2)  
38.(4)  
39-40. 7-is  

8-red  
1-rose  
6-old  
2-gold  
9-looks  

39.(4)    40.(1)   
41.(1)   
42.(3) 

 
43.(4) 1313 + 2121 – 1616 = 1818. 
44.(5) 10642 + 35 – x = 2662 – 46 

Therefore, x = 8061.  
45.(4) 126 – 7 + 5.9 = 124.9  
46.(1) 12 × 2 +1, 25 × 2 – 1, 49 × 2 + 1, 99 × 2 – 1, 197 ×2  + 1, 

392 ×2  – 1 = 789. 
47.(4) There are two series – 
 34 + 3 = 37, 37 + 3 = 40, 40 + 3 = 43 and 7 × 2 = 14,  

14 × 2 = 28, 28 × 2 = 56. 
48.(1) 12 + 1, 22 – 1, 32 + 1, 42 – 1, 52 + 1, 62 – 1, 72 + 1, 82 – 1 = 63 
49.(4) There are two individual series 
 2 + 4 = 6, 6 + 4 = 10, 10 + 4 = 14 and 
 3 – 3 = 0, 0 – 3 = –3, –3 – 3 = –6 
50.(4) 5 × 2 = 10, 10 + 3 = 13, 13 × 2 = 26, 26 + 3 = 29,  

29 × 2 = 58, 58 + 3 = 61, 61 × 2 =122  
51.(4) Required difference = 27 – 21 = 6 lakh tones  
52.(2) Required year = 2010  
53.(4) Required Ratio = 2 : 6 = 1 : 3  

54.(3) Required percentage 
4 100 80%
5

 

55.(3) Required difference lakh tones  
56.(4) Total No. of crimes in HP = 36903  
57.(2) Ratio = 210 : 520 = 21 : 52  

58.(5) 
2119 14220 16339 1021.

16 16
 

59.(2) Required 
628 100 39.82%

1577
 

60.(3) Required difference = 1577 – 1432 = 145  

61.(4) Required probability 
8

1
21

1

C 8
21C

 

62.(2) 

 

63.(4) Required number of way 
7! 5! 50400.
3! 2!

 

64.(5) 

 
65.(1) 

 
66.(1) 

 
67.(2) 

 
68.(5) 

 
69.(2) 

 
70.(2) 

 
71.(4)  
72.(3) 

 
73.(4) 

 
74.(3) 

 
75.(1) 

 
76.(4) 12348 + 235 – 90 = 12439  12532. 
77.(2) 13394 + 28 – 23 = 13399  13399.5. 
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78.(5) 9332660  9332660.6. 
79.(1) (204 – 103) (204 + 103) = 101 × 307 = 31007  31068. 

80.(3) 
92687
3 13

 = 2376.5. 

 


